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General Instructions :
(i)  There are 25 questions in all.
(ii) All questions are compulsory.

(iii) Question Nos. 1 — 14 are short answer type questions carrying 2 marks each.
Answer to each question should not exceed 30 words.

(iv) Question Nos. 15 — 21 are long answer type questions carrying 4 marks each.
Answer to each question should not exceed 80 words.

(v)  Question Nos. 22 — 25 are very long answer type questions carrying 6 marks each.
Answer to each question should not exceed 200 words. Question No. 25 is to be
answered with the help of the passage given.

1. oeTes S Gt STHifsheh 9 v Tehr {1 € 9 2

In what way formal demography is different from social demography ?

2. SR i Bl 31 BT T Seoid HieTg | 2

Mention any two adverse impact of Liberalisation.

3. 3ToUHEEHl % USRI I W o [0 KU T digumens qauaH § 9 6%l g % Sood
HIT | 2

State any two Constitutional provisions meant to protect minority rights.

4.  ToRITRd ST B e © 2 2

Who are the privilaged minorities ?

5. 3TMYfohaT I | T W Hied & 9 2

What does the term modernity assume ?

6.  TETIAr & QAT ShodToT o IS Icel ohl Sooid ShifsT | 2

State the social welfare responsibilities of panchayats.
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7. P ud Wl o v H e gg €0 2

In what ways are agriculture and culture linked ?

8. S VI U AT F THIAA & ? 2

What do you mean by the term ‘Beggar’ ?

9. ThifesH Ud STR HifesH (TE-HitesH) | fH=Tar 5eimed | 2

Differentiate between Fordism and Post-fordism.

10. IR T 6t faRivaT SarEg | 2

State the features of transnational corporations.

11. ™9 G&hd (BURS HooR) SARHAT 3R AT i Hd Sel Il ¢ 2 2

In what way does corporate culture increase productivity and competitiveness ?

12. QI GRed e HHTSTeh TSI o 7e 3iaY W hifeT | 2

Distinguish between social change and social movement.

13. TRMELRTH (Ueh) & 5 H aaf¥reh TR Teigil o Ui fohd YR Hew= () &1 TS 2 2

How has the formation of AITUC made the colonial government more cautious in
dealing with labour ?

14, QURAR! Ud WidaMIcHS ST=icil § 1 f=ar € 2 2

In what ways do reformist and redemptive movements differ ?

15. 9Ra § ai & forT o § % g1 | &5 fah=dr sl 9uemsu | 4

Explain the regional variations of low child sex ratio in India.
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16. 9Rd H AWK 31X Ao ST T ARRT GSeT (A29eh) FRT GRetetd fohar Siar € | foeam

aﬁﬁQl 4
reram
GSTaTg ol Ueh 90T & &9 H GUdiehioT (ShiAISHhST) i ST HifT |

Trade and Commerce operated through Caste and Kinship networks in India. Discuss.
OR

Explain Commodification as feature of capitalism.

17. o1 ARSISAE ST ol YA o Ui STarece! o o areq e o1 9re 8 9 & 2 foar 9
HHAET | 4

Could the RTI be a means of forcing the state to respond to the people of India ?
Elaborate.

18,  SHSTCR &t | STeRYd S AT FT 3T@R0T Fied JuiT iy | 4

Describe with example the grass-root democratic functioning in tribal areas.

19. T Geraret gR1 Sfeaiiad fafaf¥ies Yra 9 aied & o9 gl @l fofdR ¥ =men ST | 4

Elaborate on three aspects of change in Colonial India as stated by Satish Saberwal.

20. SfeRT WAl % A SR BT B @it By | 4
YT
TSGR o HERUT ot AT HIT |
Highlight the advantages and disadvantages of contract farming.
OR

Explain circulation of labours.
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21. YRR T H JHESHAIHRIT TR SRSV % I1% gT IR bt [Ter=mT iy | 4

Discuss the changes that have emerged in Indian industries after globalization and

liberalization.

22. SIS BT FIIEhR0T SRt T X “UE0T ot e forRivarsti & @R fohar T €
W HIT | 6

‘Tribes have been classified according to their “permanent” and ‘“acquired” traits.’

Explain.

23. THHCAN ¥RA § Afgctell & ufqer § feha GuR gam & 2 o0 S % T H STl
T | 6

YT

G STEHAFTT & A H 9]9TE AT € | ol [GgT=i o W H G WidiehoT i

STTLRON T AR HIT |

How far did the status of women improve in contemporary India ? Give examples to

support your answer.
OR

Social inequality differentiates between individuals. Highlight the principles to

explain the concept of social stratification.

24. SUFETETE § T &5 7 Sgd 31y UNadq ST — A1 98 AT 8l el Hikhidh ST

[aYaY

T G | 3RO §RT 38 U I St g Hifw | 6

Colonialism introduced a wide range of change in every sphere, be it legal or cultural

or architectural. Justify the statement with examples.
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faU gu TS B Uiy SR i U e vt % 3R i

WA HTETAT o GHTERTST i St

TUsel F IR T T I IeeiEH Heql ¥ qRAT 9Tl & GHERTE § i 37

T | T THERGE H g STRIT F Teel & bl A | IR % I U 3 0 e SR

AR LFeh ey & F51eh U areil ol G ShEST: 2.1 S AR 1.7 IS & | G 3tk oSt

Y T oA SFeRT T STRIHAT AT o e & 1 (51.8 UAe gfg) 3R S & sfes arior e H
(129 wicerd 975) € |

(B ; AT AT T 2002)

GG GUERTA 1 FeH df TRA qTS1ei o GHERYAT (UF) S heTdT 1 Th ST
T 1 g % IUH TEST T T 1974 H 3W THERE B ARY A T Teed U fahe

HFATTIESh TerdT &1 | 1980 o 391 & T | ATHOT &5 H SRRl STiieh S Suge

T ¥ e I o] GUERYS SeTdl § Uge § Gl & T | 310! 30 Fhotal § IR eleht

3T 1989 H “en 3 Fepter 3% T | 3 Siesie v e § Y Sen-fawiy & gt

el STel FHER 31X 34T RNt o el 31T BiC el 9 W aiigh [a=a o919 ST & | 1998
o -3 TS’ 3Ty TR o 3 el I UehIVTd &1 oI 91 31X Wqut def &feh T o TR
H TR 6w 70 iR 91 |

(37) TR0 AR o i TehR o & 2
@) AR IS & GHERTA i Fheg o AT T RO b TSR AT ST Hehell & 2
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Read the given passage and answer the following questions :

The Indian Language Newspaper Revolution

The most significant happening in the last few decades has been the Indian
language newspaper revolution. The beginnings of this growth predated liberalization.
The top two dailies in India are Dainik Jagran and Dainik Bhaskar with a readership of
21 million and 17 million, respectively. The fastest growing dailies are the Assamese
dailies in urban areas (51.8 per cent increase) and the Bengali dailies in rural areas

(129 per cent)
Source : National Readership Survey 2002.

The Eenadu story also exemplifies the success of the Indian language press. Ramoji
Rao the founder of Eenadu, had successfully organized a chit-fund, before launching
the paper in 1974. By associating with appropriate causes in the rural areas like the
Anti-arrack movement in the mid-1980s, the Telugu newspaper was able to reach into
the countryside. This prompted it to launch ‘district dailies’ in 1989. These were
tabloid inserts of sensational features carrying news from particular districts as well as
classified advertisements from villages and small towns of the same. By 1998 Eenadu
was being published from ten towns in Andhra Pradesh and its circulation accounted

for 70 per cent of the audited Telugu daily circulation.
(a) What are the different forms of Print media ?

(b) What reasons can be attributed to the emerging growth of Indian language

newspapers ?
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